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The charge carried by an a -particle is

(A) 1.6x101°C \ﬁ,&zx 1019 C

(C) 08x101C D) 16x101°C

@ a -gsaflar Bergr L sder gy DGID.

(A) 1.6x1019C (B) 3.2x109C

(C) 08x101°C (D) 1.6x101®C

Geiger counter is insensitive for a period of us to

following each pulse.

(A) 20, 40 (B) 100, 200
y 200, 400 (D) 400, 600
QalsT eramentl euGourm Fig.9nE Yemammad HUS PpFed

Crry @enL_Geuenarulile Ganmps glevedlwgementn G &meTiq (h&H@ELD.

A) 20,40 (B) 100, 200
(C) 200, 400 (D) 400, 600
To detect anemia _ isotope is used.

(A) Sodium (B) Iodine

\y Iron (D) Phosphorus

@Arés Caremseani sevrLHlw . @CarGLm vweruRESILHEnS).
A) Camgqwid (B) <=Cumger
© @by (D) umdbLied

3
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4. If the electron jumps from an initial orbit of Energy (£,) to a final orbit of Energy (E'f ), a

photon of frequency

E—Ef Bf_Ei
:—:'—-—— B Y=
\)/y — ® 7=

@ credlgrer ifle 2nnd QararL g hnd wiln B, O¢hs Gapbs <npnd wl b K, &g
grayb Qurpg 2 OIPLUBL sHT §éar di6eua

E -E E.-E,
A el f B — = F i
@Ay h B) 7 W
E -E E,-E
c =t D gl
(©) ¥ nh @ r nh
5. According to Sommerfeld’s Atom model the path of the electron is
(A) . circular (B) elliptical
% rosette ' (D) circular or elliptical

Cemoimia® <igy wrdflllen L., Hgmailan craslgrailer Lrms @

(A) el L (B) ®areulLb
(C) Crmegmiy, euigauld ; D) el g BoreuLid _
6. Draw backs of Sommerfeld’s atom model

(A) It could not explain Zeeman and stark effect
It does not give any explanation for the Intensities of the spectral lines

(C) It does not consider electron spin and pauli exclusion principle

W (A), (B) and (C) is correct

Cemwmie® siawrdfuia gopurQ

(A)  Swen wHmib eLLTTE eflepereysamer eflaTésedened

(B)  #lnwree euflser Aeesamer eflerdseilcrenay

(C) ees grallar sHawpnd wpmb Quereer gellisma e9 smsdd Cardrarelldeana
D) - (A), B) wpmib (C) &l
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If A is the incident X-ray wavelength, Z is atomic number of the absorber then the mass

absorption coefficient p,, ,
Ay, < 2Z°

B)  u,xiZ

N R

D) p, < A2

A earugl LG X-sdflar g@eband wHmb Z Qurreaiien Dien e erafld sLGuTmatlen Hlep

o U s6uT @eursd M, ,
B py e P2
B)  uxAZ

©€)  pnxFZ°

M) oy, <Z*

If the following equations which one is the equation for Betatron condition?

. (¢ —flux, r-radius of the orbit, B-magnetic field intensity)

@A) ¢=2mB V( ¢ =2m’B

©) ¢=2uB? (D) ¢=27B/r

Spsaenr_ swemumBaafled S Lm’yren Hlupgsmenssrer s 6Tg?
(¢ —srBasumUD, r-sHmLuTmguier 2yb, B—srbseid)
(A ¢=2mB ‘ B) ¢=2m"B

) $=2urB> (D) ¢=2xBIr*

5 FAPHY
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9. 90% of primary cosmic rays are

(A)  Electrons (B) Neutrons
j Protons (D) Helium nuclei
wsaenw sTavlblé &8t 90% —————— oyang)
(A)  CTOEHLTTEISETTE B) Ayl rremserréd
(C)  yCyriLnensermed (D) aflud ams smasermea

10.  Which one is the correct equation of Bragg's law?
(@ -diffraction angle, n-order n diffraction, A -wave length)
(A) 2nA=dsind (B) 2dnA=siné

\ﬂ’ 2dsind=n4i (D) Adsind=2n

Spsaar_eupmer yrs eflSssmer sflwurer swerL rr@ oTg)?

(@ -diffraction angle, n-order n diffraction, A -wave length)

(A) 2ni =dsin@ (B) 2dnA=siné
(C) 2dsinf@=ni (D) Adsin@=2n

11.  Electrons, photons, neutrino and muon come under the group of elementary particles called
(A) Mesons (B) Hyperons

/ Leptons (D) Baryons

Gre&Lmett , o GuILLmetr, Hlyyl ACGenm, ujWITer 6T 3iiqLILIEDL & SHIFHETEHET SPSHHETLUDHMIET 6THS

]

Wifleneud Carmbsanau?
(A)  Ssrewser ' (B)' emapliQuymeser
(C) Qali_menser (D) Guflwnrenser
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12.  Caleulate the Poisson’s ratio for the material, given Young’s modulus E =12.25x10' N/m*

and modulus of rigidity G =4.55x10" N/m?.

W 0.347 (B) 1.347

(C) 0.374 (D) 1374

Wi @aman =12.25x10" N/m? wppib eflenply Gamsh = 4.55 % 10" N/m?, umisevren sensay

LR OEEAGES .
(A)  0.347 (B) 1.347
(C) 0374 (D) 1.374
13. The excess of pressure inside a liquid drop
v r-2 ® P-Z
F " i
(C) P= AT (D) P= 4r
r T
Brog gj&ﬂuﬁ]@jm Hlens (PSSO
(A) P= £ (B) P= 2r
i T
& pe=ii o P=2
r r
14.  When a wire is stretched, the potential energy of its molecules
M increases (B) decreases
(C) remain same (D). changes randomly

@m &bl B8 senujb Gung), siger Hleeurhoe
(A) ofswrEbd (B) @@pwbd
(C) wrHpb Gdena _ D) @umrs_Hp wrHpd
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15.  The kinetic energy per unit volume of a gas 18
A 3E - “{ 2E

© %E ' D) 2E

RreE san eraflerer eumujeilen Quiss opHme

(A) 3E B §E
1
(©) EE (D) 2E
16. First law of thermodynamics is expressed asl

@ Q=W,-W, Q=(U, -U)+W
(C) Q=(U2_U1) . a)) ‘ Q=U2)'U1

Geuiu Quisseflwellen wpge efldanws TS FaHEOTLD. _
A Q=W,-W B) Q=U,-U)+W
(C) Q=(U2_Ul) (D) Q=U2"U1

17. A certain mass of gas is expanded to 3 times its volume find the resulting temp after

adiabatic expansion
(A) -75°C (B) 80°C
-97°C | D) -65°C

@@ aumyeurarg 3 wLLMEG GeuliuwrhHHp process aped effleuawd Cunrg gHU@SHID

Qauiuflenavenw srers.
A) -75°C | (B) 80°C
©) . —97°C (D) —65°C
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18.

19.

20.

Which of the following factors are not affecting the acoustics of buildings
(A) Presence of echoes (B) Adequate loudness

(C) Inside noises Mound distribution and absorption

Qemaumid sligL elufweller arig smranfl s gL gamg urdludaensy
A)  adi g6 yaso (B) Gumgorer suigd
(C)  oaCar #igid 2 (HeuT@HD (D) @& uRSBSD LHHID 2 L seumHBo

Ultra sonic frequencies may be generate by the following devices
(I) Galton whistle

(II) Hartmann generator

(III) Piezo electric oscillator

(A) (D) and (II) only (I) and (III) only
(C) (I and (III) only W (I), (II) and (III)

B @6l Sima SfirGeuar s smalsearred o heurssiuB DS
() srolLeraflevae

(II)  &m Gerr 2 Husd eped

(III) SCsr et SemeuTwmH b

@A) @) wpgn (T) wr @i B) (@), (1) w P>
©)- aDn, dID v @w D) @O, dDn dID

The ultrasonic waves produced in a medium can be detected by
(A) Telephone (B) Hebbs method
Kundt's tube (D) Resonance tube

@ osr_s5586 2 PuSH QawiLBD Beel Smasmer @ger cufluing s @y
A) QsreaGué (B) Qsliev apenm
©) @& @pmi (D) essdiey Grmiu

9 FAPHY
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21.  The zero-point energy of a linear harmonic oscillator is

ho
0 st "gf’;wm
(A) 5

©  hw!/2 (D) hol4

Crwe FMae amaeiluien slliLerefl QDD

A) %” B) hw!2
C) hw!/2 (D) hv/4
22, If k is the force constant and x is the displacement, then the potential energy of a

one-dimensional linear harmonic oscillator is

A)  kx* B) - kx®
‘)9/ k12 D) kxl4

eflens rded &, @LUQUWTES x erafied, @-uflwren Crflwe Eflams maailuen Hleeowrbperearg
GV B) -kx’
(C)  kx*/2 (D) kx*/4

23.  The persistence of audible sound after the source has been cut off is called
(A) Echo (B) Resonance
(C)  Acoustic prolongation M Reverberation

@ apasdd Qmbs) aumib @6l Simaad flam GIn@, ¢l eamigme aaaurm SiapssComd?
@) apigd B sisdi
C) @&l maser B4 (D) FTuQumel
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24. The instrument used to measure the Solar radiation is called

(A) Bolometer (B) Thermometer

M Phyroheliometer (D) Spectrometer

&fw sfreisdlen wlemu el 2 sa b 2 LiGTeRTLD
(A) CGumeomSlLi (B) Qsmombii
(C)  euGrrafelGumS Lt D) ewQus Crmbli

25. What is a Adiabatic process?
(A) A process at const velocity

(B) A process takes at constant temperature

M A process takes place suddenly

(D) A process takes at Const pressure

Qeutiu wrHdLHm Hlape, eremmmed ereer?

A) e Bspe wiprs HosCasidled pLpsme
B) oo fspe wrprg Gauliuflaaui BLbsred
© oo Hopey Helrar p_psre

D) a6 Bspe wITs SiWspsHD HLHHTD

26. The temperature at which the Joule-Thomson effect changes sign is

(A)  Critical temperature (B) Absolute temperature
/ Temperature of inversion (D) Zero temperature

- gTbeven el aray —an Gungy erdlT@Hlumet mmibd.
A)  wryHlee Ceuliuflana (B) gaf Qeusublenew
©  yrl® deutiulene (D) & Qeusubleneo
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27. What is the mass of an object whose weight on earth is 196 N?
20 kg B) 0.2kg
(C) 1960 kg D) 2kg

wBlufle eren 196 Bluy 1 e Qamarr Qummatien Slenm eremen?
A) 2044 : (B) 0.2 84
(C) 1960 &4 (D) 244

28. The unit of co-efficient of friction
(A) Newton (N) (B) dJoule (J)

\V No unit (D) Newton/sec (N/S)

2 TTIeYS &GmESEET D0 (E;
C) <@ Goana (D)  Fluen/eflanmy

2

29.  According to Kepler's I1I law, Z; = constant where
a

(A) aisthe diameter of the orbit
(B)  ais the radius of the orbit

\/ a 1s the semi major axis of the ellipse

(D)  ais the semi minor axis of the ellipse
T2

Qalierilen eparpmbd efldluug, — = wrhlall. QR

a

(A)  aerenug spnUUTesudem el b

B) aeeaug spylLTagUe =TD

(C) aseug BereulLgdar Gl QU@ 255
(D)  acrarug pereul L ghar Genpd Sy oiéa
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30.

31.

. 32.

The centrifugal force on the electron is

) rnz M mv?
r r

i B o 2

r ‘ r

srasL_yrefer Bg Gaudu@ib eww Crrés elens

Y72
(A) m2V (B) mV
r r
mV mV?
_ D
© = ™

Gamma rays are

(A) charged particlés (B) affected electric field .
(C) affected by magnetic field M electro magnetic waves
SO SHTEHET eS|

(A)  Darer b Qsrewr gsensar (B) Weryagsme undlasinBib

(©) &g yodsTe LmdlésliBib

What is X in the following nuclear reaction?

30* < 30
P = ST +X

@ e vﬁ(le"

(C) 0 n' (D) 1 H'

E&anamib gmissm eflanaruiea X eranuig) erebien?

5P -, Si* +X

@ e B) e’
€) on' D) H

13

(D) Ven sTHE HAMOSET EGLD
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33. Ionization potential of hydrogen atom is

(A) -13.6eV %3.6 eV

(C) 3.4eV (D) 10.2eV

eanl_rmafler Hwallurss Weararpssn

(A) -13.6eV (B) 13.6eV
(C) 3.4eV (D) 10.2eV
34.  Einstein’s photoelectric equation was experimentally verified by

Millikan’s experiment
(B) Thomson experiment
(C)  Stern and Gerlach experiment

(D)  Richardson and Compton experiment

genevieafler gafliflar eflenerey swerumr_en. Cargenar cuflwns 9558
(A)  Woelssen Cargemen

(B)  smbsen Congenen

(C)  ew@Liam wpmib Gsteors Gemganer

(D)  fésm _gen wHmb smbLar Camgemen

35.  The photoelectric effect was discovered by
(A) Lenard Mertz
(C) Thomson (D) Ruther Ford

gatlblen allenarena sar(p i SHeuT

(A)  Geerri(® (B) Qamiev

(©)  gmbeen D)  @sCuni®

FAPHY 14



36. For —— alloy, the neutral temperature is its melting temperature

(A)  Nickel

(B) Iron
M Constantan

(D) Copper

o m@Hee QLG pOHame Qealiuwrs 2 drer Gaidms el o
(A) Hese

B)  @mby

(C)  asmamevLamrL_en

(D)  smblnbd

37. Transformers are laminated to
" (A) Increase impedance

(B) Reduce current

M Reduce eddy currents

Increase transformer ratio

Slett mnﬁ)[ﬁ]aseh—-——l-— sTUG_LU@Eng)
A) WVengenLew 2fsMss

(B) WeaCanrliigenssd GoOnss

©€) sye LaGarm L smss G@DES

(D) WBesompiluier 556 cTERTENEHTS Sal L

i 15 FAPHY
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38. If the two conductors carry current in opposite direction, these will

(A)  Attract each other

W Repel each other

(C)  No force between them

(D)  Rotate each other

Lo Qeoarunar s_sfsafle adli Heasule Barsmyb umibsre, @ sLsHs e
) gérenp geny FidELD

B)  qéwp gam eleosEn

©  @ranpsg e Cu eflows Qrésng)

D) geep gem sHHD

39. Skin effect is more relevant at

(A) Low frequencies

M High frequencies

(C)  Very low frequencies

(D) Low voltages

avdlen eflenarey siflsons flapeig)
A)  Gonbs 2dTCeuamranfla

B) @ifswrer o iGeamanian
C) Vs @onps 218 iQeuamaic

D)  Eopps Bean(psssde
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40. - The couple per unit twist for a hollow cylinder is ———————— that for a solid cylinder.

lesser than

y greater than

(C) equalto
(D)  none of the above

@@ edefLpp Bar o meerller @reog msE @riel, HilCurmer far 2 Hamerar @reos
WPn&EE @ren_enuw el

@A) Eopans Qoéeh
B) fswrs GmEELd
(C)  swwors @msEn

D) @eupdle ggifldeame

41. By Quincke’s method, the surface tension of mercury is
1.
Ma = Ehl pg
1,2
(B) o= th pgl
1.3
©  o=3hp,

© o =ship,

@elend) wenpulder, urgresden Lurly @pelens

® o =2hip,
® o=2hip
©  o=3hip,

@ o= %hfpgl

- 17 | FAPHY
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42.  Doping is nothing but what?
(A)  removal of atoms

(B)  neutralize atoms

J adding of atoms

(D) none of the above

lﬁr:@l'_i_sb GTETLIG)

A)  gmssmen bé@ag)

(B)  sgmssmer sofl@LBSHSI
(©) iamssmas CariiLg

D) @apdo agedome

43.  What is the doping level of outer layers of a transistor?
(A)  lightly doped
B) n-loderately doped

(C) equally doped ‘

M heavily doped

em Hilpaanugder Qeuafl 2iH&Eseflen wrEL L6 Hlae ereer?
(A)  Ceovsrs wrEl L liu@dlermet

(B)  gwrs wrE L Ou@dermen

(C)  swiwons wrE L Liu@Seamar

(D)  Wenswng wrgE L@ &eamer

FAPHY 18



44.

45.

46.

The loudness of a sound depends upon

(A) Wavelength (B) Frequency

y Amplitude (D) Overtones

@6 amesafar LS TG FTTHSS?
(A) e Hard B) =HiQeuamr
(C) &i&s D) «flssuso

If ¢ is the light velocity in vacuum, the phase velocity V, and group velocity V, of de Broglie

wave are related by

A V1V, =42 | B) V,/V,=2c

\@/ V.V, =c* D) V,V,=+2c

Qeupilgled epartudlen ﬁa)&@sua;l.b c aafla, e Arréel Demauier s g HamsCeusid V, wpmibd G9é
HaveCGouad V, gweupflpE e Cuwrear Agm_ureaig

@A) VIV, =42 ®) V,/V,=2c

© Vv, = D) V,V,=+2¢

If k is the force constant, then the relation between restoring force F' and the displacement

x of a one-dimensional linear harmonic oscillator is

(A) F=kx B) F=klx

v/ F=—kx D) F=-kix

allens orPled k erafled, @m ufiwrer Cpllwe Flms wouduiad, BSLA oflaws F  wpmb
QruQuured x HPHwpmse Qe Cuwrer Agmitumeg

(A) F=kx B) F=kix

(C) F=-kx (D) F=-klx
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47. In a damped oscillations, amplitude goes on ———— with time.
Decreasing (B) Increasing

(C) Equal (D) Greater than 1

Frhm swaeid Crrsms Qurnss eliFsreangy.

A) @epuybd B) =dsféEn

(C) swwrEWL D) gawp 9L HswrEhd
48.  The property of a Wave which alters its surroundings is called

(A) Interference (B) Noise

Disturbance : (D) Coherence

BT EHMLILTSMS MHMID el Dienauller LiekTLImeg)

A) ©Ms&EL® elemaeray (B) susbd
(C) Qgroewaadr D)  emusiu@ss50
49. In a progressive Wave the intensity depends on

Amplitude of the Wave only
(B)  Frequency of the Wave only
(C)  The Velocity of the Wave only
(D)  The density of the Medium only

@ aGarn 2eneufler Celey Yamemb pereann FTihss)
(A)  smallar eiFens WL (HLD FTTHSS)

B) el ofliCeusmeant LRI FMibss

©)  waler fasCeussms LB arihss)

(D) ea_ssflen oiLiisHlepw ol Rib eMiHSE
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51.

Moment of inertia of a hollow sphere of radius “r” is

3

A M (B) éMrg
2

a2 vp’ 2 2
2 3

<y r QaramL 2 L Qurmer Sipp Carergdlar flawmwg SmuLssnen

A Mr? (B) ng’*
Mr? 2., 2
(Q) 5 (D) ng

The speed of earth’s rotation about its axis is w. It's speed is increased to x times to make
the effective acceleration due to gravity equal to zero at the equator. Then x is

A) 1 (B) 8.5

y 17 | (D) 34

ser oFmsl Qurpiss ylller spHdl Casd w. g Casd X LLEEG sflsfssiiu’ @ Hlay
LefuSiiiy ap@&sn x sPwrsstLBADS. LGuNg, x ar iy

@ 1 ®) 85

© 17 (D) 34

Calculate the difference in the weight of a body of mass 1 kg as measured at the equator
and at the poles (Radius of the earth = 6.37 x 105 m)

\/ 0.0336 N (B) 3.36N

(C) 0.336N (D) 336N

Hleom 1 & Qanen_ Qummer WwsSwsdld o erer Gurgd, Fmaumsaia 2 aer Gumgid Gurmefle
el elgHunssas samsdlHs. (el gyyb = 6.37 x 10° 8)
(A)  0.0336 Fl L (B) 3.36 By Len

(C)  0.336 flyg e (D) 33.6 Bl Len

21 FAPHY
[Turn over



53. The unit of gravitational constant (G) is

(A)  N.m%Kg? \ﬂ/ m*/Kg.S?

(©) m*Kg§® (D) m?/Kg.?S*

yelluSiy wrdledl (G) e i@vsmens
A) B ian 5/08° B) 8'/H8.famy’

(C) Lﬁzfc!ﬁ]é].aﬁismmq_a ‘ (D) lﬁaltﬁeﬂz.aﬁ]mnqg

54.  The weight of an object of mass 15 Kg at the centre of the earth is

(A) 147N B) 147 Kg

vy{ 0 D) 150N

yellewwsdle, fleom 15 A6 QarerrL Qummefen erenL
(A) 147 flyy e en (B) 147 &4

@ o (D) 150 flyy e

55.  If Fis the limiting friction and R is the normal reaction, then angle of friction @ is

M tan' F/R (B) tan'R/F

(C) tan ' 2F/R (D) tan' F/R?

Q&rﬁ;@g’.@ eflens R, euenpwumis@ o e miey F erafléd, 2 rmisey Cared 6
(A) tan'F/R (B) tan'R/F

(C) tan'2F/R (D) tan!F/R?

FAPHY 22



56.

57.

The specific charge of positive ion 1s

W Charge per unit mass of the electron

(B)  Mass per unit charge of the electron
(C) Charge of the electron

(D)  Mass of the electron

Grimbler sweflufer Wergn L flep sa6
(A) groe Hlepssrer Weargr L b
(B) groe Hagrn L gdpsrer o
(C) sl prefer Wergy L

(D) eos grafler flevp

According Mosley’s law the frequency () of the characteristic X-ray is related to the atomic

number (Z) of the element as

A) r«xz
B ez
©) yocllZ

Ve

GurevCa aff@ar vy Apuy X-sdi Hemwroe eufluler S fTQauamand@ (r), 2-LHlpn

gaflogglan viam eramanid@Eb (£) 2_erar Qg

A r«<Z
®) =z
(C) yexllZ
D) ez’

23
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58. The rest mass of varies between about 250 m. and 1000 me..

(A) Leptons -~ (B) Protons

(C) Hyperons # Mesons

SiglueL. geasaian @ueybleon Csrymuwrs 250 me wpsed 1000 me aany

L mEELD.
(A) QeuLrensar B) yCprlrenger
(C) eaptiQuynrenser (D) Sswenser

59.  Cosmic ray showers is based on the theory of

(A)  Pauli theory Cascade theory
(C)  Avalanche theory (D) Cosmos theory
sravilé s8T Qumeyser Qsrarenaufen Lig SieLopbgieTeaTaT.
(A)  ured Qarerens (B) <mels Asrerens
(C) &fleys Qanarens (D) srevwme Qarerens
60. At sea level the secondary cosmic rays contain nearly of u-mesons and

of electron-positron pairs.

(A)  30%, 60% \ﬁﬂO%, 29%

C) 28%, 72% ' (D) 70%, 1%

&L UL S geewr sTevllé sdTser 1 —Bsrensenemyb,
eresLyrar—umeadlgrer Gemgemuid Q& Taiy HEELb.
(A)  30%, 60% (B) T70%, 29%

(C)  28%, 2% D) 70%, 1%
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61.

62.

a -particles have

‘/ Positive charge

(B)
(©)

(D)

Negative charge
No charge

Both positive and negative charges

a —glGengeT

(A)
(B)
©)
D)

~ The number of nucleons in each shell in shell model is limited by the

(A)

Gt i0ergg L 1b QamerL_enau
it W L 1b Qaredr_cvey

Wletren L 1D immenau

Grir nmid erdli Wlerenm” L kigear Garamr e

Newton's

\/ Pauli exclusion

©
D)

Bohr's

Einstein's

principle

Sigmssmeilar B wrHfluld geaibeurm ah.l'_@gmb QmEEE Sl JSESTH FIFHETHET 6T

cranTentiGenganiu BliemrudliiLig
(A) Bl efler
B)  undluller gellTsanss
(C)  Gunfler
(D)  semevigaflar -
25
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63. When a solid is compressed, the potential energy of its molecules

‘/ increases

(B) decreases
(C) remains same

(D) changes randomly

@@ HLuGunmer sHEIEGDL Curg, igen Hlaourpoe -
A)  =fsfadpg

B)  Eopdpg

(C) wvrppdame

D) puwi pp wrHow

64. The potential energy of a stretched spring is proportional to
(A) the force constant
(B) the amount of stretch

(C) the square of force constant

j the square of the amount of stretch

BLA siemL_Bg smer pendlen Hlevewrpoe ergn@ Crm elflssdla Damwdpg?
A)  diles e

B) Bl siew_ps 2ierey

(C)  eflens wrdledlufer G)muig

D) - BLd s areden Qmulg

FAPHY 26



A
When i = +4/~1, the quantum operator F representing the position F ofa particle is

.

A r=rl2r B) r=ir

€ F=7i vgi(

i = V-1 aafle, gseldan flow T né GNEGEDL Gaurem_ b @uéd

1l
-~

—
/i

=l
Il

N>

3l

s

r

1l
-

(A) rF=rl2z7 ' ®B) r

s
r

~!
]

D)

~
I
5-1-

(©)

The Hamiltonian operator of a system represents system’s

(A)  kinetic energy (B) potential energy

M total energy (D) momentum

@ <siewlber CapllaGLreflue Quisd Golliugmaug
@) Quss appd B) Powunpps

(©)  Qunss adpe D) 2 psid

; TN ;
If the eigen value equation is If!a—;: =Ey, then y is

(A) eigen value \/eigen function

(C)  expectation value (D) dynamical variable

et wHULF soeTur( ih% =Ey aaflle vy yang
(A) gaserwdoy (B) gser ey

(€C)  ediumiiy oSy D) Quas wrh
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68.

69.

70.

The efficiency of the heat engine is

T. ¢ §
a) = V(h 2
A) T T,

T, T, =T
C —L D 21
(€) T, (D) T
Qeutiu ergpflafian QUIBEGSHDENESTET SjeTey

T T.
N B) 1--2%
(A) T B) T

7, T,-T,
C 1 D 2 1
©) T, D) T,

The mean value of the solar constant is

(A)  1.23 joul/minute m.s cal/em¥minute

(C) 17.63 cal/min (D) 6.023 cal/sec

@flw wrhelufen symef wdliy

(A)  1.23 joul/minute (B) - 2.3 cal/em?/minute
(C) 7.63 cal/min (D) 6.023 cal/sec

Which of the following is true for adiabatic process?

(A) PV=NrT MV" 1 = const.

©) PV=RT (D) PV=K

Spsencun ey G!mﬁumn;j);ﬁl_g')g) BlapeilnE, erg GummHd
(A) PV=NrT B) TV’ = const.
(C) PV=RT (D) PV=K
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71.  If a 3-input AND gate has eight input possibilities, how many of those possibilities will
result in a HIGH output?

Ml B) 2

© 7 D) 8

@ 3-2_araf_(H AND sseiln@ o () 2-araf() snsw smmsar o areran. ifadlmpbg HIGH Geauaflui@h

Ceuafleum erégeman sTEHEIL FapiFHeT 2_6Temen?

@A 1 B) 2
© 7 D) 8
72.  Modulation refer to a low frequency signal controlling the
(A) Amplitude of the carrier Frequency of the carrier
(C) Phase of the carrier M May be any of the above
uaTCuHDD Gap SHTCeudT mems ———— sl_HUUH SGleumss GDHEE DG
(A)  carfullen eiés (B) eardlulier oFrQeus
(C) emifluben s b D) Cupsapluapiled gCogd ey
73. With the barrier voltage increase, there is no possibility of a current from is
w Reverse bias (B) Forward bias
(C) Un bias (D) None of the above

@M G sLsHule L Wearan(pssb FsfaEn Quripg WeanGarm L wrpun® @dameG et
(A)  QenCenra smry B)  penCanra, smiy

(C) &y Qe (D) Cuwpeadu ergaybldena
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74.  The thermal conductivity of helium 11 is than copper.

(A) . Very closer _ W Greater

(C) Lower (D) 5 times
afellwib 11 er Qeuliud SLGgEpern sTULIMT 69— 245 @)(HEE LD
A)  Os smdd B) fswrs
C) @opaunrs (D) 5 wLrEEser
75. ———— principle is used in liquefaction of permanent gases like oxygen helium and
nitrogen.
(A)  Newton cooling Moule — kelvin effect
(C) Thomson method (D) Expansion method
psadigen, afelud LHHID Bl R (psorar aunyssmer SyeuBlamaiiu(ss ——— sogieb
uweru (BgsLuBhEng. |
(A)  Slulear gafitalgse - (B)  gBe-Qadeilan wpenp
(C)  smbsen apedp (D) &ffleursgsa wanm

76.  What is Zero point energy?
(A) - The energy at 0°C

\/ The energy at absolute zero

(C) The energy at 100°C

(D) The energy at @ temperature

~ &fluyerefl (Zero point) eremmed repren?
(A) - 0°C -& G mé@Ew CGung) o drer pHme
(B)  Absolute 0°C-é @Qmé@ib Gug 2 éTer DM
(C)  100°C-& QmsE b Cung 2 6rer L Hm
D)  a-QeutiuBfeeuder Gursg) 2 ateT pHME

FAPHY 30 e



717.

78.

79.

Change in momentum is equivalent to

(A) Torque | (B) Energy

(C) Workdone Mmpulse

2 5% LTHDSHDGHEF FiTeu LTS
A dooysdpen (B) oo

(C) Qawwiul L Geuenev (D) sargsnss

The relation between half-life (7},,) period and decay constant (1) is given by

i
B o et
2 ™ 0.6931

(©) 4=0.6931.T,, V(Tm. _ 0.6;)31

(A) T, =06931.4 (B)

<o st (1},,) wppb Aamsge) wrHdlsen (1) eder Agriy

A

(A) TIFH =0.6931.4 (B) Tuz =m
.69

Which one of the following is called as Yukawa particle?
(A) Proton (B) Electron
(C) Neutron W Meson
EDESETL6UDMIET WSTEUT SI&H6T 6T SMPHHUIL (NS 687
(A)  yGpmliLmen (B) erevalgmen
(C) Bl ymerr (D) (Samen

31
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80.  The following ultrasonic waves are not useful one?
(A)  Ultrasonic frequency as high as 500 MHz
(B) _ The output power is very high
/ Cutting and shaping the crystal is very complence

(D)  The breath of the resonance curve is very small

Wereu(mid U5 66l sienavsafied erg) epeimm LiwieTLL TEg)?

A) B gl ofHi@euar 500 MHZ idlsid

B) Caafip pna s Hsn

(C)  uyssems AUy augeimsED el WseLb sy aromer Qe
D) assdirey cumruLgean s Wseayb Gapey

81. In the Sommerfeld’s atom model the Potential Energy of electron is

W ~ Ze?
4z gor

'ZGZ
(B)
4re,r
Ze
C
© 4dreyr
- Ze
D
& dre,r

2
A) — Ze
47 eqr
2
® =
dreyr
Ze
C
= dreyr
— Ze
D
©) dreyr
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82.  The material which exhibits negative Thomson effect is

A) Ag
(B) Sb
3t 5
(D) Pb

arflii&@M gribser eflenerencu QeuafiiLBSgID saflod

(A)  Ag
(B) Sb
© Pt
D) fb

83.  Which one of the following is not the property of X-rays?
(A)  X-rays are changeless
(B)  X-rays undergo diffraction

W X-rays are deflected by magnetic field

(D) X-rays travel in straight lines

ikpé;a;sim_au,r_i)g;lsi'r'srgj X-alferr LTy SlenLwimg)?
(A) X-sdiraer ey L wHpea

B) X-sfrser aflafliby eflenereyses 2 L@
©)  X-sdliser snpsessned ellwssinBib

(D) X-sdlitaer CrrGam iy LwiemilsEw
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84.  The force between two conductors carrying current of 1 ampere and separated by a distance

1 metre apart is

W 2x1077 Newton

2x107 Newton
(C) 47x107" Newton

(D) 4z %107 Newton

@m bPwr BeaGammiLbn urnyb Q@ sLsdaersE QaLCu 2drer Gerawey 1 BLLT <&
Qm&E b Curg), sL8 o ammHb allans

A  2x107 Ay e
B)  2x10" Ayl er
(C) 4z x107" flyy Lan

D) 47x10" Hylien

85.  The potential at any point due to dipole varies as

@ v{—lz
r &
© . = @ =
r r

eflgb

@ B -
g r
1 1

(©) - (D) r_"
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86.

87.

The electric field inside a perfectly conducting sphere is

(A) infinity

M Zero

(C) 120 »

(D) depends on the value of charge

@@ Carars earsL_gduler 2 arGer 2ienng Laratludle 2 emer W6 e

A)  mhHed
B) &
(C) 1207

(D)  Blemgpmii wHuemus Aurmsss)

The materials which has zero Thomason effect is

(A) Ag
(B) Pt
(C) Bi

/Pb

smbgar eflenena, @evang Saflowd

(A Ag
(B) Pt
(C) Bi
(D) Pb

35
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88.  Big liquid drops are not spherical due to
(A)  viscosity
(B) surface tension
(C) atmospheric pressure

gravitational force

@@ duflw Siggafl Carer augefiler wiemwaudliene, sryaurd
A) unrghew

B)  urdy Qupelens

(C)  aafllwar e Sipssid

D) yelrity elens

89.  Choose the value of the ratio of specific heats y = %’"—
v

M 1.67 (B) 1.29

© 140 D) 158

e &wWleuiu srso'asrmﬂ_rj}esrr-em wrdlflenws QgMng seirHi g y = %
v

A) 167 ~ (B) 129

(C) 1.40 D) 1.58

90. A certain mass of gas is expanded to 3 times it's volume under adiabatic process. Calculate
the resulting pressure.

(A) 0.315 atmos 0.31 atmos
(C) 0.2148 atmos w 0.412 atmos

@M eumyeureng 3 wLm@ Geuliuwrpdnn Hlspeilar epawn affleuamidlp Curg S sEb
2i(P&35Hen wHliwus sreams.

(A) 0.315 atmos (B) 0.31 atmos

(C) 0.2148 atmos (D) 0.412 atmos
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91.

92.

93.

94.

The intensity of a progressive wave is defined by the energy transmitted per
unit area per second (B) second

(C)  unit area (D) unit volume

2 Hmed LITUILGTE 6@ (WHEHN Semeuiler Gemlafler i@
A)  greg uribea ¢m edanmguid (B) eflamgufe
©)  @roguride | (D)  @reE umwaid

The following which one is not an applications of ultrasonic waves
magnetostriction oscillators (B) study of molecular energies

(C) elastic symmetries of crystals (D) diagnostic use

Yeau(mibd ergl ey LS el Byemevulien LiwaraeT @eenea
4) Hearsenps siemaulnm (B) epssmm HDm LN Lilg &
(C) ugsmsaiar Cr wrdflwrer Baflwid (D)  Crmuseaner seiwr(Hig&5

Standing waves and echoes are based on which acoustic phenomenon

(A) interference (B) polarisation

(C) diffraction W reflection

Blener enaaar HMID T @allaer Qbs (el clamaraney igULMLWTES QsTeam el
(A) EnsE.(H demaray (B) ger efleneray
(C) eNefliby eleneray (D) erdir gaflitsed

Pitch of a sound depends upon

(A)  wavelength Mmplitude

(C) frequency (D) period
el oemeuiler 9 & ereng Fihog)
A) e Femd B) elds
C) =fiCleuer D) sjeeey Crrwd
37 FAPHY
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95.  If y is the wavefunction, the expression |y [2 represents

(A)  Position Position Probability density
(C) Normalisation (D) Time probability density

SIEME&FFTTL| I eTasfled, |;‘r/|2 @nluusreg)

A feow (B) Heve flspsse; iLigd
©) Queursse (D) Copr flapsse; s

96.  For a particle confined to a one-dimensional box of width a, according to normalisation

condition, the value of the integral ﬂyle dx is
0

A 0 (B)

/ 1 | D)

Ssob o destar  gm-ufloreary QuigwWe S@LlUl@ee gs@EE6E, QUoLTEsd

L I N

Bupsaeanleniy, QsramsiL@ssd ﬂw[z dx e wHOurang
0

@ 0 (B)

Cy 1 (D)

97.  When h is the Planck’s constant, according to Heisenberg, uncertainty principle, the errors
in the determination of position Ax and error in the determination of momentum Ap of a

particle are related by

(A)  AxAp=h MxApthZJr

(C) AxAp<h/2rx D) AxAp<hldar

Qerma ordlel A erafler, QaniiGsauifler o pfulcnmos sssusHamy, goaier Hlamoamud
saleidley edrer Wenp Axr wHHD 2 Hssmss savHadld eder Gep  Ap
g lweundlhélen Cuiwirer Qsmr_rumeng

(A) AxAp=h (B) AxAp=h/2zx

(C) AxAp< h/2rx (D) AxAp<hl/4x
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98.

99.

100.

Which of following equation represents the Vander Walls equation of state for a gas?

A m= Ll (B) PV=RT

() E:%mcz w/[m%] (V-b)=RT

& UM adlan FlenaEEmet auTeHTLTEUMTE) FLOETLITL Lg eneIT et 6u(meuaeumMIedl (Hbg) &mess.

A m= g ~ (B) PV=RT
(©) E= %mcz - (D) [P + 5] (V-b)=RT

What is thermal Conduction?

% Heat is transmitted from one point to other through the substance

(B) Heat is transmitted by the actual movement of the heated particle
(C) Heat is transmitted by the medium

(D) Heat is radiated from the surroundings

QeuliLih SL_SHIHED GTeMDITE) GTETes ?

A)  Qurmeian gm uEHWS HHE LHADTH LGHSHE Aurpaliar auflurs sLGHis0
(B) Qummefen @Lrasiul L gseter auflwns sLgsULO SR

(C)  ea s ppaid Qeuliu SLSSIFD

D)  spmuyDEHaHHE Geuliub eisagmead

The specific heat capacity of liquid helium ————up to 2.19 K.
(A) Decreases (B) Remains same
j Increases (D) Suddenly change
Bres efalwgHer ser sw Geutiu erar 2.19 K Qastiufleoa aimo euenry
A) @@pwyb (B) <G5 eameuns @m&ED
(C) =flafseo (D) edHiurgrg LIHPSSSDS S(HLD
39 FAPHY
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101.  In a solution, the mass of the solute diffused is directly proportional to the cross-section of
the part (M a A). This law stated by

(A) Charles (B) Boyle

(C) Avogadro’s M Fick

sagsdled  efifluenwyd  sorlunmeiier M, SuuEdllear Cem@sss GnéEG@al HI

urtueraln@ Coir gselled jenwujth. (M a A) CTGITLIg, &),
(A)  amrieve B) umfeé
(C)  eunsr G D) 98

102.  With a rise of temperature, the Young’s modulus

(A) increases M decreases

(C)  remain unchanged (D) changes randomly

GeutiuBlenay 2 wighib Guing), Wik Gertaid
(A) 24F &M & @0 - B) eonyb
©)  vmpb Q@mésns D)  @urs by wrysea

103.  Kepler’s second law is equivalent to
Law of conservation of angular momentum
(B) Law of conservafion of linear momentum
(C)  Law of conservation of energy

(D) Law of conservation of mass

Gsvierfler @peim_mb al$ée sieuswiomansg
(A)  Gsrewr 2 b wrmT 644

B)  Cpflwed 2 pswb rpT 654

(C) OO WP 64

(D)  Hevp wrpm eflg)
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104. According wave mechanics the orbital Angular momentum is

V,/lil +1)h ®B) JI{l-1)n
(®) 1fl(lJrlih (D) 1ﬂil+1i
Sleme eripFlredlweler Lig snpIUTmG Carenr 2 HHLb
(A) {l+1)n (B) ,{lil—lih
(©) \/”li‘ljh (D) 1/lil+1i
105. Lorentz unit is
eh e
A B B
@) Adrm B 4am
W - g my &2
4rm d7zm
QUITTEHTL_6 S}V
eh e
A B B
@) dzm B) drm
h e’B
0 =5 .
© drm ) dzm
106. The Electronic configuration of Helium
@A) 18! | (B) 18228
u/ 1S? (D) 1S%28?
afellwgHen erevsL_greflu ey
A 18! : (B) 18%*28!
(C) 182 : (D) 1S8*28?
- 41
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107. The anomalous Zeeman effect can be explained on the basis of
(A) Rutherford atom model
(B) Bohr's atom model

(C) Sommerfeld atom model

M Vector atom model

aprenflw Fwen eflenerey SpsarrL orhs lgmiondlflufler g LienL_ulé eSlerasliLEDS)
A)  marCuni® <igm wrdfl

B)  Gunt gy wrHf

(C) Gamom S 2iam wrd

(D) QeusLit g gl

108. Anomalous Zeeman effect is explained only b); using the idea of the

‘(A) Orbital motion of the electron

M Spin of the electron

(C) Angular momentum of the electron

(D) Momentum of the electron

apyanfis Eoe aflemarencu Esa@TL @anpre allatés (pig Wb
A) ecesirraflar spmurems GuEsDd

B) eesirrafar spawns QuEsd

(©) eesigraien Caranr 2 Hsbd

D)  ces_grafler 2 Hhsn
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109.

110.

According to Biot-Savart law

Uy ¢ Idlsina Uy ¢ I*dlsina
=0 ——d B) B=|——d
/B 4.&'-“ Tdr ) 4xj 5——dr

Idlsin®

(©) B:f—;jﬂf‘ﬁdr (D) B:%jr—zdr
L —srauit efgulen Lig -

@) B:f—;j-‘@dr B) B:f—;j@dr
(C) B= ;‘; j@d _ D) B= %j-—fdliﬂz 2 dr

A square of side 1 metre in air has a point charge q, = 10*2¢ at the upper left corner and a

point charge g, =10 ¢ at the lower left corner. The potential at the centre of the square is

\/ ~0.115 volt (B) 0.115 volt

0.15 volt (D) -0.15 volt

am BULi ussweer @m egrsdear Copuad @Lg epoauie q =10"%c eemp Wengyr L ib
SpuEd @Ls mpeoeld g,=10"c eaam Beagn L b @LHITR NBSE SFTSHE
WLl 2 drar BlenaT(pis D

A) —-0.115 Geumedr_ - (B) 0.115 Geumevl-

(C)  0.15 Geumev_ (D) —0.15 Ceumev_
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111. Where is fermi level is intrinsic semi conductor?

(A) Below the conduction band

% Centre of the Forbidden energy gap

(C)  Above the valence band

(D) Above the conduction band

@ G@né sLsSulen Gumbl Hlene ermbiE e -
A) s gm0 Ll &G EC

B) . BO DHPD L L_&G BHUTS

(C) Qeenr Hpern LU &@E Cowns

(D) -EI_lé';g]L'.l ul e &@ Coans

112.  When the distance between two equal charges is decreased to half and their magnitude of

charge also decreased to half, the force between then is

\/ Remains unchanged

(B) Reduces to half
(C) Becomes double

(D) Becomes four times

Quem® swwrer  Bergn L hsEpEHaLCu  odrer  gmdms  LUTHAWTES G@DHSID WLHHID
e L misaflen eramamareydy LMHWTES G@DESLILLLTD, E)re(® e’ L misEnddlent_Gu
o e eflepFwimeng

A) vmomoCe G méEL

B)  urdwrss Gemubd

©)  @rewn® wLmsnED

(D)  prénE wLksTEW
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113. Relation between three elastic moduli

W 2.8.1
N YTE

a4 3,1

Y N'K

9 3 1

© x=v'w
9 3 1

B - g P g
iR

eperm) 5185 @erstis@né@ @ent GCuiwimer Ggmiy

(A) 3=§+l
N Y K
o B 4.1
¥ N K
9 3 1
i G N
© ¥°7v'w
D) i=i+l
N K'Y

114. The tangential force applied to a solid

(A) changes its size but not shape

ychanges its shape but not size

(C)  changes both size and shape

(D) neither changes size nor shape

@ HLuunmefler 158 Gequasiiu L QamEsg efleswime,
(A)  sjerellé LTHOL, auigeuGH® IHDLOlD®E

B) eugeusHad wrHoib, .aimeﬁ]éo. wroniléoeamea

(C) augeud HMID Seraile rHmEL SIS

(D) eugeud HMID j6Tey, @és@q@m wrhmLileena
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115. Holes entering and electrons leaving the n-region make it

Mpositive (B) negative

(C) neutral (D) nochange

N - ugdulie gemarsdr powpps s rrarsd QaualCuiblame deL g
(A)  Crimwenm (B)  edliwem

©) pOHflo (D)  wrHpBdme

116. In a transistor CE mode, the input characteristics are drawn between

/ Vag Vs I (B)  Vpg Vs I

© Veg Vs 1, (D) Ve Vs Iy

an Sflgpaaugfler CE wpanpulie, 2 dref (& Ay auemysdr QeupdléadenGu Qupliu@deampen
(A) Vg Vs I ' (B) Vg Vs I,

(C) VCE VS IC (D) VCB VS IB

117.  The band of frequencies reserved for use by AM radio stations is

(A) 355to 1610 kHz (B) 355to 1710 kHz

(C) - 535t0 1710 kHz Msas to 1610 kHz

AM Gy Cur flevewsdHeE eaésiiul L ofiQess Ul jamay
(A) 355 Ampa 1610 kHz  (B) 355 g 1710 kHz

(C) 535 Amms 1710 kHz (D) 535 fmpg 1610 kHz
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118.

119.

120.

Wl;len h is the Planck’s constant, h=h/27r and k is the Boltzmann constant, the de Broglie
wavelength ‘A of a particle having momentum p is
(A) nip W hi/p
© kip (D) hikp
Qermiug wrdled h, h=h/2r, Curidlevwrear wrhldl k eeafle, 2 pgb p QsrarL o gssafier
tle. (yr&edl emer Berid
(A n/p B) hip
(C  kip (D) hlkp
Hh= 2— =1.05x10"% J_sec, the uncertainty in the velocity of a proton of mass 1.6 x107% kg
7
when confined to a box of width 10 m is
(A) 4.5x10"m/s 2.5%x107" m/s
(C) 6.5x10" m/s D) 8.5x10"m/s
h —a34 . -27 s : . -9 ) .
h = o 1.05x10™ J.sec erafled, 1.6 x107" &4 Hlewpujerer LCym_Lmer 107 15 seid 2 6rar
2r
Quiiguilé e tul HererCurg), 2igen HasGassdld o arer YenwTens)
(A) 4.5%x10 " m/s B) 2.5x107"m/s
(C) 6.5x10 " m/s (D) 8.5x10"m/s
According to a basic postulate of wave mechanics, each dynamical variable is represented by
W Linear operator (B) Non-linear operator
(C) Non-Hermitian operator (D) Null operator
sim@ ahfrallwdlar siguume. aBCaraflamg, ga@er®m @Quwés wrblowwyd — GHEED
Qusdluireang
(A) Cpflwe Quisd (B) CrAwudanr Qusad
(C) Gaprdflafluder @uas D) & Quisd
47 FAPHY

[Turn over



121.  How many lines are there in a complete TV picture frame
(A) 255 frames (B) 552 frames
(C) 652 frames 525 frames

QzrenedaT ) appewwrear F_LGHe ersgsamen cuflaer o drerar.
(A) 255 auflsar (B) 552 euflser
(C) 652 aufger (D) 525 aufiser

122. Modulation is done in

(A) Radio receiver

w Transmitter

(C) Between transmitter and radio receiver

(D)  None of the above

@eupdled uarCupmLd 6@ HenLQLmd

(A)  CrieCuir aumisd -

(B) seneots uglid

©)  seweluridagn CrgCur aurmidés HEOCeu
D)  @addo agiefeme

123. What is the total resistance of the circuit for a circuit for a circuit consisting of n-equal-
value resistors connected in series?

(A) R, =n+R, (B R,=n-R

eq

\/Req=anl D) Req=%

n- &1 wHULSE deranL WargmLsdr @ Aamir snble Gamarssliul L Sigar Gwrés e s

GTEoTEn ?

(A) J Req =+ Rl (B) Req == Ri
n

© R,=nxR, o B, =—
R,
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124.

125.

126.

Two bodies of masses m and 4 m are moving with equal linear momentum. The ratio of their
kinetic energies is

1:4 B) 4:1
€ 1:1 D) 1:2

Blemaer m, 4 m Qsrame @ QurmLaser Gy Crllwd 2 pasmas Qaream(h pardearne. .gqu@urrgj
Slaunblen QWS pMHmasatlen ssa

(A) 1:4 B) 4:1 ’ /

€. 11 ' D) 1:2

a-particle contains

(A) two protons and two electrons

(B) two electrons and two neutrons
two protons and two neutrons

(D)  two electrons and four protons

o GiS6T QETarTig HLLE

A)  @ran® LGy LnenseT oHmib @R sl ranse
B) @reaw® ereéL_renget wHmD @ et Hluyl renaer
(C) @raw® yCrmiLmerseT wHmD @wﬁr@ Bl prenger

D)  Quean® cres_grensar oHmD Hre@ LT Tenser

Calculate the acceleration due to gravity on the surface of the moon. Given that mass
of the moon = 7.349 x 1022 kg Radius of moon = 1.738 x 10¢ m. Grawtatwn constant
G =6.7 x 10-11 Nm? kg?

(A) 6.3 m/s? vﬂ( 1.63 m/s?

(C) 0.163 m/s? (D). 0.63 m/s?

Bleveller Lyl yeluSiliy apBéssmss sarsdlhs. CasrhssiulHeraraes : Hlwelear Hep
=7.349 x 1022 £, syyib = 1.738 x 10818, yefluSitiy wrfled = 6.7 x 10-1 By L air 152 Ha?

(A) 6.3 15/eQammig 2 (B)  1.63 15/efewnmig 2

(C)  0.163 15/eflarmg 2 (D) 0.63 5/eflemrmiq ?
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‘127. Force of attraction between molecules of the same substance 1s called

(A)  adhesive force ‘ (B) molecular attraction
y cohesive force (D) surface energy
@Cr  Qurnmellgierer  epadsamsErédeo Gu  odrer  mily  eflas - aTan
SP&EULHEDF).
(A)  Geulen iy efleng B) epasdammser rrly eleng

(C) gfar iy elens (D)  uriy o

128. Which one of the following statements is incorrect?
(A) Gamma rays affect photographic plate
(B) amma rays produce fluorescence
Gamma rays are affected by electric and magnetic fields

. (D) Gamma rays are electromagnetic waves

EDEETL_CUDMIGT SEUMITET FJaD) 6TS)?

(A)  snorsdliser LamsliuLg saHEmer LTHHE@LD

(B)  amwrsdlirsar gafliigama gnuBSHID

(C)  amor sdliser e, &1HS Ljomserme Limdlds 1L Hib

(D)  smor sdlirser Wen &1HS ianevsHer

129. Arrange the following interms of energy in ascending order :
1. Visible light

2. Gamma rays
3. X-rays
A 2,31 B 1,29

@ 821 W1,3,2

Spsaa_eunenm pHmedler g liuemLuile gneuflasuda euflmsiu®sss :

1. sLL@am@Lb sl

2. & &SI

3. X-g&li

A) 2,31 B 1,23

© 321 ‘ D 1,32
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130. The velocities of positive ray particles is

W 10° to 10%ms™ (B) 10 to 10°ms™?

(©  10° to 10*ms”! (D) 10% to 103 ms™!

Gt Weraumis sdlraeflar HengGousid

B - 4 -
(A) 10° to 10°ms™ (B) 10* to 10°ms™
© 10 to 10*ms™ (D) 10° to 10*°ms™*

131. Paschen series is in the region of

M infrared (B) ultra violet

(C) wvisible (D) X-ray region

ureger aufleng flpwraauier erps LGSl Bi@wud
(A)  ss&dlaiy (B) ym earmm

(©) sarapuES D) X-sdiugd

132. Einstein’s photo electric equation is
maximum

(A) | hy = hy, —%mVE

1 l 1

(C) hyD - h}’ . énlvnzmximum W h’y - hyﬂ :érnvjui'mum

gaflfler eflenerellpamean manevieafler Fweanuim(H

(A) h}f = hlvi) na %n]‘ anaxs’mum (B) h}’ = é’n V;ax"m“m

maximum

(©C  hy,—hy= %sz

(D) h;V - h}/o = %nl Vnzla.ximum

FAPHY
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133.  Which one of the following statements is wrong?

A)
B)

©

Metal crystals posses high electrical conductivity

Metal crystal posses high thermal conductivity

Metal crystal has surface lustre

J Metallic bonds are stronger than ionic bond

SDEsEET_UDMIET 6THS SaHM) S6uUDTENE)?

A4)
(B)
(©)

D)

2 Gors LigshiseT 288 en sLsgIFpar Qemreriq hé@ELd

2 Goons L shseT fla Geuliu sL_gg Sper Qanamg (méE LD

2 Goors Ly smseflar Uty ueTueTL G&Te g HEELD

2 Caorg Wenenrliyser weafl Geanestliysener el euallenwirarane

134. Natural radioactivity can occur in elements having atomic number more than

(A)
(B)

64
234

e

D) 15
DI@| GTEHT
FHUGL
(A) 64
(B) 234
(C) 82
(D) 15
FAPHY
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135. The energies of slow neutrons is in the range of
/ 0 to 1000 eV
(B) 0to00.025eV
(C) 0.5to 10 MeV

(D) 0 to 1000 MeV

@mnCeus Hlyyl rrensaflen pHmed erenm ciFSled @(HEGLD.
(A) 0to1000eV

(B) 0to0.025eV

(C) 0.5to 10 MeV

(D) 0to 1000 MeV

136. Betatron is a device to accelerate to very high energies.
,/ Electron
(B) Proton
(C) Neutron

(D) Hydrogen atom

SCLmCgmerr B8 He DDEE (P[0 &S LweTUHID &Ml pELD.
A)  eaes_grarsamen |

B) | YCrmiLrersener

©) ﬁga'.me’ﬁeswerr

(D)  ewan ygmen oamiema
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137. The elasticity of a body is the property which arises due to
(A)  the gravitational force

(B) the applied deforming force

M the inter-molecular forces

(D)  the nuclear forces

@ Qurmefled SLSAL Larry erangs QUIMISE © (Heurdms)?
Q)  yel mirly eflens

B) Qaegussiiul L o BiG@sED clms

(C)  oém paseny efengser

D)  ogssm densser

138. The coefficient of viscosity of t.vater is

Vip FA
A = =
A n g , B) TARAY
- e w/,, s B
AV, -Vy) AV, -V,)
X
Binsder urdwe GanssHnsrar swearUT(H
Vip FA
A = ==
@ n=—3 B
Fx? F
C - -
il V,) D =@ v
X
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139. According to gas equation PV =

B) mC?

(A) KT
W RT D) pC?

eumwyefilen swenum iqenig PV =
(A) KT (By mcC?

(C) RT - D) pC?

140. For a cyclic process, the following statement is true.

w/ §dQ=§dU +§dw . B) dU =8Q-W

(©) §dQ=o (D) dQ=dU +W

e ape Blapeler Curg Epaar swaur® sfluragns QmEELD

@) $dQ=§dU +§dW B) dU =8Q-W
© §dQ=0 ' (D) dQ=dU+sW
141. The slope of the adiabatic is times the slope of isothermal.
. M y times (B) 0.4 times
(C) 2 times (D) 0.6 times

QauiumpLpp Aspelar cur Lib sdeutiuflaa flapeder curLgmgu Gure

LDL_TBI(& @) (H&HELD.
(A) y times ~ (B) 0.4 times
(C). 2 times | (D) 0.6 times
- 55 FAPHY
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142. In gases, an ultrasonic wave is
longitudinal only
(B) transverse only
(C)  both longitudinal and transverse

(D)  neither transverse nor longitudinal

cumyssatie Beped seneser

A) QplLemeser

(B) @Gnssmasdr

(C) Qplreme wpgbd Goésmosd 8w Qrar®Gw
D)  Apliew, GnésmsdT Gmes GramHb Ghama

143. Tell the number of beats/sec resulting from the two vibrations

Y, = Acos768xt
Y, = Acos764rt

&) 4 wﬂ(z

<€ 8 D) 4r

Y, = AcosT68xt, Y, = AcosT64rxt aranp G 2dieysafldr g dlamguie assman elibwasar

2_(HeUm@LDd
A 4 B) 2
(©) 8 D) 4=z

144. If P, V, K and E are the momentum, potential energy, kinetic energy and total energy of a
free particle in motion, then we have

A E=o0 (B) K=0

va (D) P=0

Quésidla o aror @m sLQuUILDD gseflar 2 pab, Bawwnhnd, Guss HPd wWHHL ALTES
oo panGuw P, V, K, E aafle, prb Qugeug

@A E=0 B) K=0

© V=0 D) P=0
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145.

146.

147.

148.

If h is the Planck’s constant, when a particle in its first excited state is trapped in a box of
width L, its momentum is

(A)  h/2L | ®B) h/3L
hIL (D) h/4L

Qermis wrdledl h erafled, sang (pse grewrL il L Hleveude o drar gsar son L Qememri
Quiiiguie e uulBererCurg, gisafen o Hgwreang

(A) h/2L (B) h/3L

C© AL (D) h/4L

A complete raster scan of the screen is called a
Frame (B) Flicker

(C) Picture (D) Image

@@ ppewwrar urey euflé sarGearrm_LLb
(A) &lLd _ (B) ASLé
© uew D) Bpe

In a super heterodyne AM receivers, the frequency of oscillator is
(A) 545 kHz (B) 454 kHz

v@’ 455 kHz (D) 554 kHz

ssl 19Ms@En AM ghiuile o arefl enaulwndlufen o8 T6 euesr

(A) 545 kHz (B) 454 kHz
(C) 455kHz (D) 554 kHz
How many ways we biasing a transistor?

(A) One Mur

(C) Three (D) Two

@ Sflpaaugas assmen cuflseafld sminy Qaiwerb?
A)  qemy (B) mpreng
©) ey D) @reaw(
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149. The loss of heat by radiation from a body depends on
“nature of the surface and the area of the exposed surface
(B) nature of the surface of the body '
(C) temperature of the body
(D) area of the surface

e Qummefiar Qeuliu @wiy Geuliu ugaueTd FLEGWD CUTg ————— o AuT(HGSH S/ WLLD.
(A)  CGupurulen genano wHMD GeueflGam L Lul L CupurliGer ojearemeu

(B) Qummeflen Cupuriilen senenioeni

(C)  Qummeflesr GeuliLiblepaenu

(D)  Qummefler Copuriiber sierenay

150. Fill in the blanks.

Cpis — G
(&)  equalto V(:

0" = D) <
Camgl L @b Hlyiys.
Cp e iy ————— Cv @ gLy,
(A)  swwrs ; ®B) >
€ < D) =<
151. For a complete reversible process
i:
T
T ' 6
A L B X
(A) T, (B) 2,
H, T:
—= D)y 1-—2+%
/ T (D) i
R (PpeLWTaT L &6 Hlspalld
.El__
T
T 7
A) =L B) —
(A) T, (B) 7,
H T
c = D . |
© 7 ® 1-7
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152.

153.

154.

V( 0.75 B) 17.5
(C) 75 |

Who gave the experimental value of gravitational constant (G)?

(A)  Brook Taylor (B) Kepler

(C)  Copernicus M Cavendish

yeduiriy wrdled (G)uler Gemgeanan dllienLg shseui wiri?
(A)  yews Queor (B) Qalert

(C)  Garaunhlésen (D) Caeueing.ei

Communication satellite stationed at the altitude of 35700 km has the acceleration due to

gravity of

w/ 0.225 m/s? : (B) 8.7 m/s?

(C)  9.83 m/s? (D) 9.80 m/s?

35700 A5 2 wipgdled Hene Fmssiiu’_Gearer Ggriy Qewpenss Careflar yeilufmiy ap(és0
(A)  0.225 SleQarmg? (B) 8.7 B/efenmig?

(C)  9.83 B/efanmy? (D) 9.80 18/efammg 2

When a steel ball is allowed to fall through a height of 0.64 m on a plate of steel, it rebounds
to a height of 0.36 m. Calculate the co-efficient of restitution

(b) 750

6o @& s&L_gan 1Bg), 0.64 8 o wpsHler B(mBg R eTo-@ ubg oflp maussiuBEn Gung, 215 0.36 B
2 wrsHnE Gl bydng. 5I6é Gaasamss saréssHe

5

=

A)  0.75 (B)
€ 75 (D) 750

59 | FAPHY
[Turn over



155. The term low speed and high speed applied to logic circuits refer to the
(A) rise time (B) fall time
propagation delay time (D) clock speed

sM&ss &M ‘Gammps Causd wHmb 2ifls Causb erearnus)
(A)  2wie Corbd B) @oue Cryod
(C) Qewd ugliy smwg Crywd D) sgary Causbd

156. In Bohr's Atom model the velocity of Electron in ntt orbit is

e? 2&,nh
V, = B) VvV =220
J " 2gmh BV e’

; 2¢&4nh ' : 2,0
= V, =t
(C) Vn e (D) n 92

Cuniler ey wrdlfludiey n eug) eulL urrsnguﬁlsb 2 _drer eravsLmen SlansCeusid

e’ 2¢.nh
A V = B V =2
(A) " 2g,nh ® g e’
© V= 2¢&,nh O V = 2g4n
e . ez

157. In Hydrogen atom the Potential Energy of an electron in a given orbit is
(A)  Twice its Kinetic Energy
Twice its Kinetic Energy but Negative
(C)  One half of its Kinetic Energy
(D)  Equal to its Kinetic Energy

anL_Fen Sigmiellerm eul L Limengullaerar e _grafler flana 2ymmemans
A) [uss ymmena Cumed @) Lk

B) Quss yppene Gu mé @ LG e eTdlmEh

©) Qussyppeie urd |

D) Quss Hpa)éEE swid
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158. In Sommerfeld’s atom model, the mass of the electron is
(A) remains constant in all the parts of the path
(B) increases when far away from the nucleus

(C)  decreases when closer to the nucleus

M different values in different parts of the path

CemoiSa® siaywrdflufen Hereul L uremsuie eredsl yrefen Hlanm
(Ad)  ureguler smarsg LigdHasaigib @Cr wrdflurs @mEED
(B) <oamssmeing Gsraweid o darerCurg iflshsamn

(©) enssmeiingG 2wl oararGUrgl Geamub

(D)  uneguier GeucuGoumy LG aatld GeucuCaup wHlemu umb

159. The force between charges of 1 Coulomb each separated by 1 meter distance apart is
(A 16x10"N

(B) 9.31x10* N

nglo*’N

(D) 8.85x10“N

@@ sagub wSlyerer @ Wenann L hiseT g LT @eoL_Qeueflufed Wflsg emeusELCUTE @M
Wlergm L russEhdE @ent Cuiwirer eflaswireansg)

A) 1.6x107" Hluy L an
(B)  9.31x107*" Byl L en
(C)  9x10” Ay Lar

(D) 8.85x107" L
w
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160. The equivalent unit of volt/meter is
(A) Newton -ICoulomb
(B) Newton — Coulomb?
Newton/Coulomb

(D) Newton/Coulomb?

Geundo’ /8L Lt @i swiomer SiwE
(A) Byl e sagmb

B) Pyl e sagmnd’

©) Pglidr/mand

D) Hwr e/ smgmnd’

161. The irreversible effect is
(A) See beck effect
(B) Peltier effect

(C) Thomson effect

\/ Joule heating effect

UL iy ellaveray
(A) FQus llenerey

- (B) GQJéqu.U.:Iﬁ eflenaray
(C)  smbsen efeneray

(D) g Qeudiu eflenerey
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162. The relation between electric field and potential is

(A) E=ﬂ sz-dV
- dr dr

d’V
dr*

(C) E=dVxdr D) E-=

Bearywsdn@ b (E) Wearanpsssdned (V) @ Cu o erer Qgm_iy

dVv -dV

(A) . B) =
" 2

(C) E=dVxdr ' D) E=(j£::'

163. The principle of refrigerator is

(A)  See beck effect %Peltier effect

(C) Thomson effect (D) Joules effect

@afltengen’ Quiig QUBIELD §SgeuLd
(A) &Qus ellenarey (B) GQuégwielanerey

(C) gan&sisl eflenenay (D) 29 alamaray

164. An ideal transformer does not change

M Power - (B) Current

(C) Voltage (D) Resistance
@ Quiiwrer Wer wrHHlullen ——————— wrpra
A)  dmen (B) WenCanmi_Lb
(C)  Nenanpssid (D) Wblen genL
- ' 63 FAPHY
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165. Unit of surface tension 1s

v“'/“

N
(B) P
(©) N xm
(D) Nxm?
urluy @yeilensullen e
T

m

N
(B) 3
(C) Nxm
(D) Nxm?

166. When a detergent is added to water, the surface tension of the solution will

M decrease

(B) - increase
(C) remain unchanged

(D) increase (or) decrease depending on the nature of detergent

SNW&G e gsdsar Bl sesstu@b Curg, Shlear uyiiy Quelams
@) eopdpg |

B) <=fsfsdng

(©) vrppdame

D)  gisarsaiian sysms QUIMISS DHSOISDTD BOWOF GDDWOTD
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167.

168.

The formula used to calculate phase angle for series RL circuits

(A)  sin’! (%] % tan™ [%]
AR i
(C) tan ( XLJ (D) sin [XLJ
RL spilen &1L Canemid srawr 2 g6 b swearun(p
L | _X__L. =1 5_[_,
(A) sin [ » J (B) tan [ R }

(®) tan"‘[}%] (D) sin'{%}

Why all atoms are normally electrically neutral?
(A)  because the number of protons greater than orbital electrons

(B)  because the number of protons less than orbital electrons

y because the number of protons equals to the orbital electrons

(D) none of the above

T T SigMISSHEHLD Werm 510 Fleneuudler 2 areren?

A) gQarefle Gyl renseaflen eremrenflEens <9 LT erOasL_Frensaner o9l 2 Slsd
(B) gQearafle Gy Lrenseflen cramenflsams <M Lre erQo&Lransamar el Gemey
(C) gQemafle |_|G.|Im'_|_nsiﬂaserﬂ6h erewrentlEens ML Lmed er@esL_yren eranTanil&ansdE s01d

D) @eapde ageyblaama
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169. When ¢ is the light velocity in Vacuum, the relation between the group velocity V, and

phase velocity V,, for a non-dispersive medium is given by

fvg =V, B) V,>V,

© V<V, D) V,>c

Qupflsfie gaflder AmsCGasd ¢ aafld, wma Bors AAULS Aper @iDp G eaLssH60,
GWsdameCasd V, wppw s g fasCasd V, gfuaniipde Cuwnear Agrrureang

@ V.=V, B V>V,

© - V,<V, D) V,>e¢

170. The energy of a linear harmonic oscillator in its second excited state is

A)  Thw/2 Vafsfzw;z

©) 3hw/2 (D) hw/2

@uermb grewr LUl L flaveuded o erer Cpflwer Flens smaeulen gy ppararg
A Thw/2 (B) bHhw/2

©) 3hw/2 D) hwl/2

171. If y is the wavefunction, v * is its complex conjugate, then, the probability density is

A vlpv* B) y*ly
Ww*w D) yy

SIDROEFTTL W/, Sigarn sl srag Gl v * aafla, ﬂ.ﬁ@g&m QL THHwirens)
@A yply* - B) y*ly

©€) y*y D) yy
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172.

173.

174.

The following one is not a use of ultrasonic welding

(A)

No heat is applied and no melting occurs

W Ultrasonic cleaning liquid

(©)
D)

Permits Welding of thin to thick sections

Pressures used are lower

atr eu(pLd 618y gpaitm L5660 LIDMEnaSSE LwieL(Heug) @)eena

(A)
(B)
(©)
D)

QeI LWETUL MDD LHDEmeHEHe
5.6l Slreub s550LMNSSHFD
@uwévedlw QurmET (P &igaromer GlLIMET auenly LIHD 6neU&SEITLD

SU(PSSLD Blse b GHenmeuns o_ererg)

When a sound Wave passes from one medium to another, which of the following parameters

does not change?

(A)
©)

Amplitude (Fre quency

Wave length (D) Velocity

@dl imaser @ o _ssHld @mba wHEDT ca_sb Qedad GCurg abs @ mas GOl

wrneulaene _
(A) &i&s B) =drCeuemr
(C) e Bembd (D) HensGausid

Ultrasonic waves are those waves

(A)
(©)

Which man can hear m person cannot hear
Are of high velocity Of high an 3mp11tude

5 @6 eravaseTTaTansy

(A)
(©)

Beneuseaner waflgen Cal_sambd B) Qeveusmar em HLyTD Cal & (piguITg

21815 flavsGausid Qanam_ameu D)  =fs aiss Qaramr_emeu
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175. Choose the correct a.nswer :
(A) There is minimum loss of kinetic energy on impact of plastic bodies
Kinetic energy lost during impact is converted into sound
(C)  If coefficient of restitution e = 0, the bodies are perfectly elastic bodies

(D)  If co-efficient of restitution e = 1, the bodies are perfectly plastic bodies

silwner eflen_emwd CoibOs@ :

A  BLAypma Qurplseflar Corgale Beflny Quss <ppme @liy 2 drarg)

(B)  Guorgalar Curg gpuGD Quiss mnad QY edlwurs wrholu@dps

©) BLAs gerad e = 0 erafled, QUL ser appilayid S Auymy QurmL semr@ELd
D) BLés e e = 1 erafled, Aumgnaer appiileyd B Fuymm’s QummLseTmEb

176. The moment of inertia of a body is equal to twice the kinetic energy of rotation, when the

angular velocity w is
1 B) 2
©C 3 (D) -1

@@ Curmeflar Hlavwwg HmuLsdner igen spHsl @ubss oppnamal Gurd Gm wLkCaeld,

Qumpafler Carens HensCousid w
@ 1 ®) 2

© 3 (D) -1

177. Young's modulus of a material has the same units as

(A) Strain M Stress

(C) Energy (D) Poisson’s ratio

@m Qurmetlar wn Gearssdlen aE Cura <we@ Guppme
A BLds Ay (B) BL8s senzey

©C) ope (D)  umiever saaay
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178.

179,

180.

The value of Rydberg's constant is

w/ 1.091x10"m (B) 109.1x10"m™

(C)  1.091x10°m™! (D) 1091x10'm
A_@Quird wrdlallufe wHiy

(A)  1.091x10"m! (B) 109.1x10"m™!
(©)  1.091x10°m™ (D) 1091x10"m!

The series of Hydrogen spectral lines given by the expression ?':R[liz—-—%-)

n
n=23425....
(A) Balmer Series %Lyman Series
(C) Paschen Series (D) Brackett Series

1* at
Qum(mbgID
(A)  urawtafleas (B) enawen euflens
(C)  ureger euflens (D) Yprsbs euflens

When a source of producing line spectrum is placed in a magnetic field the spectral lines are

split up in to more than three components is called?
(A) Normal Zeeman effect Anomalous Zeeman effect

(C) Stark effect (D) Photo electric effect

afl finwrooamwu gpuBssb gl wasms om sMmbe LodHd maussuuin Quripg Hinwrame
auflser ppemmiéE Copul L sapserts AASsUUGHWL Heped?

(A)  Que fwen eflenerey (B)  qpyenflu feir eflenerey

(C) LT ellenerey D) eqaflfer eSlenare
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181.  During B decay
(A) Atomic number decreases by 1
(B) Mass number decreases by 1
Neutron count decreases by 1

(D)  Proton number does not vary

B —flangallen Cung)

(A) gy T G G@DLD

B)  Heop i ey GeopLLD

(C) A gren eramenilEams enm & MULD

(D)  yCyrlnen era@meniisens TmLL_ME)

182. The energy required to remove the electron from the ground state of the atom is termed as
(A) Potential energy (B) Kinetic energy
Binding energy (D) Total energy

R cTsLTTene 3jigBlena mHma it FHle(Brg QauelCupneushE ComeuiL@Bb S Hmo
A)  fleva oo B) Quas yppa
©€) dewemriiy pped (D)  Qurés spod

183. Calculate the wavelength separation between the unmodified line of wave length 6000 A
and the modified lines when a magnetic induction of 1 whm ™ is applied in normal Zeeman
effect.

0.168 A (B) 1684
(C) 0.0168 A (D) 16.8A

QuiébLy Eomen efleveraflr, 6000 A wiaerd Qsrer. gafl apwsden g 1 whm ™ EMHS LOGms
QegusgpCung gnu@b smefar ARGy

(A 0.168 A (B) 1684

(C) 0.0168 A (D) 168A
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184.

185.

experienced by the conductor is

(A)
(B)

Maximum

Minimum

% Zero

D)

Infinity

If the conductor carrying current lies parallel to the magnitude field, then the force

o WaGam_Lib gradu sL58 snpsiLosdnE @eoamnuns @nsE0euTg, Sig o armb ilas

(A)
B)
(©)

D)

@umL &L
fipio wdluy
51

el

Electric field intensity due to a point charge is

(A)

% Inversely proportional to the square of the distance

©)
D)

Inversely proportional to the distance

Directly proportional to the distance

Directly proportional to the square of the distance

e yerafllbler 2 arar lemes Cedley

(A)
®)
©
@)

yereflullen gmsdne erdligseile @)meHE0
yerafluller sysdlen @) mioig&@E erdligaailar @ meED
yereflufler gMysSHE Coigaciier Q@G0

yereflufen grrsdlen @mwe6@ Cpigsdid Gmsed
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186. Radio active nitrogen ,N'** decays into state isotope of

% Carbon (B) Silicon

(C) Phosphorous (D) Indium

sfflwss eplyger N fAasamnd  Gurg Bleoowrer —————— oCsrGLrlemu

2 @ n&GE DS
(A)  srruen (B) A&dssmen
(C)  umevuyav (D) @ewnguwid

187. The value of density of a nucleus is

\l( 1.816 x10""kgm™ (B) 2.816x10"kgm™

(©)  1.602x10*kgm™ (D) 1.816x10*kgm™

DN@N&E(H SILTFEufen i ———— @b

(A) 1.816x10"kgm™® (B) 2.816x10"kgm™
(C) 1.602x10"kgm™ (D) 1.816x10*kgm™
188. According to shell model ———————— is the most stable element
W Pb (B) Ca
D) Kv

sa(h sigmsa wrdfluden vy Bs Hlawwrear saflob erg ?
(A) Pb (B) Ca
(C)  Sn (D) Kv
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189.

190.

191.

Name the device for measuring the intensity of sound waves in fluids?

Acoustic radiator : MAcoustic radiometer

Acoustic spectrometer (D) Acoustic amplifier

A
©

Sreunuseflay el amaasafiar Gafleac sarLHluyb e LsTewid wWrg?

(A
(B)
(©)
(D)

2&Gaumevig s CrigGulLr
25Geumavigs Crig GuimBlLm
2&Ceuravig & Hlenmioreneinme]

216Ceunavig & Cumad

The number of independent elastic constants for a solid is

(A)
©)

3 (D) 4

e HLuQurmaiien genaflFangwiran BLF wrhlelaser

(A)
©

1 B) 2
3 | D) 4

The breaking stress of a wire depends on

(B)
©)
(D)

material of the wire
radius of the wire
length of the wire

shape of the cross section

& s uden apiley Semsea] aTang CUTDISE SIEPOULD?

A)
B
©)
(D)

&9 2 meurssILL L Qumrmer
& Dullelr 27D
s Qufen Berd

GN&EGEuL{ LTl SembUL
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192. According to Charles law ————— remains const.
M pressure
(B) volume
(C) mass

(D) density

smiraveid cABudamLi LB LTE @ HEELD.
Q) <yssd

B)  sarserey

©  fHerp

D)  ewigd

193. CC configuration is used for impedance matching because its
(A) input impedance is low

(B) output impedance is very low

\/ input impedance is very high

(D)  none of the above

CC s’ Lenwoiiy lamomiiy QurmsssHn @ uwatuHSsLUBGEpg g earafe
(A)  2dref® Bemogliy Gepey

(B)  Qeueflul§® lemomiy & @enpay

(C)  oeraf® Wearomi e sdsd

(D) @ande ggiidame
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194.

195.

Which one of the following statement is not true regarding nuclear reactions?

(A)

In nuclear reactions charge is conserved

M In nuclear reactions rest mass is conserved

©

(D)

In nuclear reactions mass energy is conserved

In nuclear reactions number of nucleons is conserved

<@mi&a(m eflearer i AUT(hSgeuenT Ep&aa sapmsailey 618 SeupTeg?

A)
(B)
(©)
(D)

Si@msam edlener Bleneyr L 2ifleflanew eflféE o L@

Siamissm e guiey Hlep LTHTHmEESD

Diamda(m elananudler Hlanm-Hme THIHmEELD

igmsam elemandld Signds gisasailen cramamfléams LIHTE (HEHEWD

If h=6.6x10"%* J/s is the Planck’s constant. The uncertainty in the velocity of a particle of

mass 1 g confined to a box of width 10 cm 1s

(A)
B)

6.6x10"* m/s

6.6x10* m/s

Mﬁ.ﬁx 10 m/s

D)

6.6x10 2 m/s

Qerriué wrdled h=6.6x10" mOd/efamy. eaafld, 10 Qg8 son Qerar @uiguid

SsienL_UuL_{erer 1 g giseflen HanaCaissHle o drer Genpuireng

(A)
(B)
©
D)

6.6 x 10" 15/eflemmy.
6.6 x 107 15/ aflemmg.
6.6 x 107§/ eflemmig.

6.6x107* 5/ efleurmig.
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196.  The following one is not high frequency and low intensity ultrasonic application.
(A)  Ultrasonic level meter
(B)  Acoustic Holography
(C) _Scanning Acoustic Microscope
M Assembling of motors, field coils transformers, capacitors etc.

Gemeumd ergl e B.gell Siwaular o wiir eidiQeus/@amp Qe Lwdrseflen @érevaw
(A)  5.g6 b s@med

(B) g GanrGardlymi9

O  wCaaln gl psiCarisg

(D) GLDIITI-_i_ITI"I'. ammisaT, Wer wrHm, eaCass

197.  What is the Science of sound
Sonics (B) Eugenics

(C) Optics (D) Phonics

@ sifleflwied erenuig ereman?
(A) Cereflgen (B) QUnaisan
C) gafllwe (D) Cunaflgev

198. What is the expression for Wein’s displacement law?

A EaT! M 4, T = Constant

(C) EaiTt D) u=AT!

eflweieiy @ UGLWES eAHuler sLoeTLT 14 emar ).
A EaT! (B) 4, T = Constant
(C) Eaar D) u=AT*

FAPHY 76



199.

200.

The following which one is not detection of ultrasonic waves

M Non Destructive Testing (NDT)

(B)  Quartz Crystal method
(C) Thermal detectors

(D) Kundt's tube method

Glemaumid @endled crganmed 15 el Sienasemar set(H 2-a@ry (igmg?
(A) QummeT SiPEET Qgmfled m_ub NDT

(B) @eumiie Ligsid @penm ppaLD

(C)  Qeuiu ser (g Liumen wpenn

D) @@l @Rl gpem

The format used to present logic output for the various combination of logic inputs to a gate

is called
(A) Boolean constant

(B) Boolean variablé

/ Truth Table

(D) Input logic function

e Qeualluiyh@ Caemauwrar OGN 5758 a%heﬁ"@aaﬁ QsreRTL sgeneuLiL
A)  yelwen wrhled

B)  yeluer

(C) e a@mann oL 6uahent

(D) edmef® srésss Qeuoun®
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